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QUESTION 1

Which of the following are true regarding BW Data Modeling? There are 3 correct answers.

A. BW objects are created with reference to administrative needs.

B. Reporting requirements are the necessary starting point.

C. Different types of reporting end-users can be ignored.

D. Reference to BW Business Content should be conducted during the development of the data model.
E. Business Content does not need to be activated.

F. Reporting requirements are the necessary starting point.

Correct Answer: DE

QUESTION 2

The UD Connect extraction of document level data from a SQL Server database results in a loss of document detail in
BW. What possible action could you take to resolve this? Select the correct answer.

A. Use a generic DataSource with a numeric pointer for the delta service.
B. Use a DataSource based on SAP Data Services to restore the detail.
C. Use a DSO for Real Time Data Acquisition.

D. Use a DB Connect based DataSource.

Correct Answer: D

QUESTION 3

Your reporting end-users have noticed that several Basic InfoCube queries are staring to run more slowly. After
examination of the InfoCube, you notice that 2 out of 7 user-defined Dimensions are approaching 50% the size of the
Fact Table. What action should you take to resolve this? There are 2 correct answers.

A. Remodel the Cube by restructuring these 2 Dimensions as Line-ltem Dimensions and rearrange their remaining
Characteristics among the other Dimensions.

B. Remodel the Cube by restructuring these 2 Dimensions as Line-ltem Dimensions and rearrange their remaining
Characteristics in additional new Dimensions.

C. Remodel the Cube by moving the high-cardinality Characteristics from these Dimensions into one of these 2
Dimensions and the other Characteristics in the other Dimension.

D. Remodel the Cube by creating more Dimensions making as many of them as possible into Line-ltem Dimensions and
eliminate the remaining Characteristics.
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Correct Answer: AB

QUESTION 4

What pre-requisites must be fulfilled to use a generic DataSource for real time data acquisition (RDA)? There are 2
correct answers.

A. A Generic Delta Service must be part of the definition.
B. The delta field must be a selection criteria.

C. The Delta Service must be marked for RDA.

D. The delta field must be a numeric pointer.

E. The DataSource must be based on a function module.

Correct Answer: AC

QUESTION 5

Which of the following statements about aggregates is true? (2)

A. Aggregates can only be created for Basic Cubes

B. Aggregates are stored as a single transparent table, which houses the aggregated data

C. Aggregates can be created on dimension characteristics and navigational attributes

D. Several dimension characteristics used in an aggregate always have the same aggregation level
E. Aggregates reduce the number of key figures

Correct Answer: AC
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